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1 Part 2 in this series gives more detail on lubrication. 
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2 An elastic half space is the term given to a flat surface on an infinite elastic solid. 
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3 The reduced modulus is sometimes defined in an alternative way (resulting in a valve twice that stated here). 

Care should be taken when using other texts. 
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4 The stress ratio      depends on Poisson’s ratio.  For all plots a value       has been chosen. 
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5 In practice these infinite stresses will not exist.  Yield will occur at the stress concentration.
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6 Part 5 contains further details on the design and selection of rolling bearings.
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